SRR 304 % XK B R A A L5 B HKR)
% H HL X ENA JLVE(
*ﬁﬁlﬁ H i‘|5/H /H H30.4.5 H30.5.17 H30.6.7 H30.7.12 H30.8.9 H30.9.6 H30.10.18 H30.11.8 H30.12.13 H31.1.10 H31.2.7 H31.3.7
Al C 17.2 27.3 24.7 29.3 35.8 29.5 22.1 20.3 10.1 6.8 14.1 14.2
JKiE C 16.2 20.2 22.4 24.7 27.8 28.0 23.9 21.3 17.9 14.3 13.1 14.4
TR SR mg 1 0.23 0.20 0.28 0.22 0.22 0.14 0.22 0.24 0.23 0.23 0.25 0.26
— R {l& ml =100 0 0 0 0 0 0 0 0 0 0 0 0
PN s s o SRRV RS0 S| smishan] iShen| BiEie v smitsihan] iShen| BiE e | smitishan] sitshen| sy
AL PZE DAY mg,/1 =0.003 <0.0003
IKERK O DILE Y mg,/1 =0.0005 <0.00005
YV R OZ DL meg,/1 =0.01 <0.001
WM OZDLEY mg 1 =0.01 <0.001
LE KL OZDILED meg,/1 =0.01 <0.001
AMiizo MEA W) mg,1 =0.05 <0.005
dh AR AR 2 meg,/1 =0.04 <0.004
VT AL ALY mg,1 =0.01 <0.001 <0.001 <0.001 <0.001
e

e m;f*” mg,/1 <10 1.1
7Rz M OTDIED mg1 =0.8 0.11
KUK NEDILEY mg,/1 =1.0 <0.1
i RIES mg,1 =0.002 <0.0002
1,4-V" 4% mg,1 =0.05 <0.005
VA-1,2=VanxFLy R
PRty mg/1 <0.04 <0.004
ALY mg,/1 =0.02 <0.002
RSV mg,/1 =0.01 <0.0005
Mooz FlLy mg,/1 =0.01 <0.001
~vey mg,1 =0.01 <0.001
SRR mg1 =0.6 <0.06 <0.06 <0.06 <0.06
JuulER mg,/1 =0.02 <0.002 <0.002 <0.002 <0.002
oA mg,/1 =0.06 <0.006 <0.006 <0.006 <0.006
v yun g mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
V7 aEyun gy mg,/1 =0.1 <0.01 <0.01 <0.01 <0.01
a0 mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
S IN Y mg,1 =0.1 <0.01 <0.01 <0.01 <0.01
M) 7o e meg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
7 nEy iy mg,1 =0.03 <0.003 <0.003 <0.003 <0.003
7 BERVA mg,/1 =0.09 <0.009 <0.009 <0.009 <0.009
TVAT VT BN mg,/ =0.08 <0.008 <0.008 <0.008 <0.008

HiER R 2 D(LEY mg,/1 =1.0 <0.01
TIVIZUA R OFOLE | mg/] =0.2 0.05 0.04 0.03 <0.02
R OZEDILEY mg,/1 =0.3 <0.03
BN OZDLE mg 1 <1.0 <0.02
ﬂJf?A&U%@ﬂ:/\% mg 1 =200 6.2
VR OZFDLEY mg,/1 =0.05 <0.005
WAkt mg,/ =200 4.8 3.3 3.3 3.0 3.3 2.7 2.5 3.0 3.8 4.4 5.0 5.5
i mg1 =300 49
ZEIETREEY) meg,/1 =500 110
B A A S e T P 5 mg 1 =0.2 <0.02
VA A mg,/1 [ =0.00001 <0.000001
2-AFMAY R VA=V mg 1 | =0.00001 <0.000001
FEAL H i PEA mg, 1 =0.02 <0.002
7x)—)VIE mg,1 =0.005 <0.0005
HEEY mg/1 =3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
PH{E 5.8=8.6 7.1 7.2 7.2 7.1 7.2 7.2 7.1 7.1 7.2 7.2 7.1 7.1
IS Sl WAL MERL] WAL MERL] WEAL| BERL| WAL MEeU| BEARL] WL BEARL] BEAL
L HEaU| BEkel] BEEAaL] BEAL] Bkl EEAL] EBEAL] Bl BEEAL] BEAL] BEAL] BEAaL] Rl
(=S = =5 <0.5 1.2 0.5 3.3 0.7 2.0 1.1 <0.5 <0.5 <0.5 <0.5 <0.5
T 3 =2 0.1 0.3 0.1 0.7 0.2 0.4 0.2 0.1 <0.1 <0.1 <0.1 <0.1




